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QUESTION 1

When an agent that is connected to the database finishes its work of successfully processing a query, what happens to
the agent? 

A. It terminates immediately. 

B. It remains active as long as the MAXAGENTS setting is not exceeded. 

C. It is placed in the agent pool if the connection is terminated. 

D. It automatically releases the database connection and returns to the pool. 

Correct Answer: C 

 

 

QUESTION 2

What is a method for enabling non-buffered I/O at the table space level in a DB2 database? 

A. Set the DB2_DIRECT_IO configuration parameter to YES. 

B. Set the DB2_FILESYSTEM_CACHE configuration parameter to YES. 

C. Use the USE DIRECT IO clause with the CREATE TABLESPACE or ALTER TABLESPACE command. 

D. Use the NO FILE SYSTEM CACHING clause with the CREATE TABLESPACE or ALTER TABLESPACE command. 

Correct Answer: D 

 

 

QUESTION 3

A table named TAB_A was created with the COMPRESS YES option specified and populated with 100,000 rows. If a
DBA wants to create an index on table TAB_A, which statement is true? 

A. In order for the index to be compressed, it must be enabled for compression by specifying the COMPRESS YES
option with the CREATE INDEX statement that is used to create it. 

B. The index will automatically be compressed since the table it is associated with is compressed; the ALTER INDEX
command does not have to be executed. 

C. In order for the index to be compressed, it must be enabled for compression by specifying the COMPRESS YES
option in the CREATE INDEX statement used to create it; however, the index will not be compressed until the ALTER
INDEX command is used to create an index compression dictionary. 

D. The index will automatically be enabled for compression because the associated table is compressed; however, the
index will not be compressed until it is REORGed. 
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Correct Answer: B 

 

 

QUESTION 4

What determines the degree of inter-partition parallelism used? 

A. The number of database partitions and the definition of partition groups. 

B. The number of database connections and the definition of partitions groups. 

C. The value of the INTER_PARALLEL Database Manager configuration parameter. 

D. The value of the DFT_DEGREE database configuration parameter. 

Correct Answer: A 

 

QUESTION 5

A DBA has configured an Oracle data source in a federated database (that references a table named ORA1). How do
you update the statistics for table ORA1 at the federated server? 

A. Perform the equivalent of RUNSTATS on ORA1 in Oracle. 

B. Perform RUNSTATS on the ORA1 nickname at the federated server. 

C. Perform the equivalent of RUNSTATS on ORA1 in Oracle; then perform RUNSTATS on the ORA1 nickname. 

D. Perform the equivalent of RUNSTATS on ORA1 in Oracle; then drop and re-create the ORA1 nickname. 

Correct Answer: D 
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